B35 AZAGRFIHRRE
W HACAPTIE ARG

REN: A

- B

R AT

( FHEEREEAT T )

R H :

4T 7 0] {8 ( Traveling Salesman

Problem) HJEHK

BUIE AN Rl st R L

WREBFE: 2014 5

=4 A 29 H ()

4 14:15~15:15

REMLA: BESEEGHR=F 31

T TR T




i

TEAT v 8 (TSP) 7 B i sk

P—HA TR OLMAL. RIKIRE B

NIFE—BH SN T R E. R
B 5ERE TSP BN AR B EER
B HRESAMEFTNFERRHEE.

ZIEBEENE TSP FRK—EH K
Mo MR AT MEBRBI/SFHIEXH K,
FE~— %ﬂHEM%MHnﬁﬁﬁ VEd

mAE. LT, A,

i%&%—Aﬁﬁﬂﬁé

WEHMH.
mM%%——

N k& GEM) wRETHE, 5K

S FEM IR

SR IP K KA |



